[ normalized x? probability |

Mean
Std Dev

Entries

Std Dev

1

Prob(x2)

.10.2030.405060.7080.9

normalized X2

i
o
=

3

2

0 1
TP n (PCA to beamline)

04p0
pt1to20_eta2p5to4p0

etazp!

)

__ptlto20_eta2p5to4p0
ixelCPETemplate_step2

orginal_step2_p
QM_mkFit_step2__ptlto20_eta2p5to4p0

QM_angle_step2__ptl1to20_eta2p5to4p0

QM_fast_step2.

QM_p

—
s D
— D
s D
D

IS

@® 9O
- -
<Jpu/X>

1072

107

03

EEE FEEEE FREEE NEEE R
)
N

<Jpu/ X >

1 -1
AR(track, jet?

F}T

[t

(o) < *dri'd o >




	Contents
	Page 1


